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(kN m) 434 .96 474.92 631.90
(1/m) 0.004484 0.0050143 0.0585699
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-2.2.1 1/3)
(m) (m) (m|dx|oy|ldz|[Bx|Oy|0B2z
(9]

1 0.4000 0.0000 -1.7500 0.2634

2 2.4000 0.0000 -1.7500 0.5791

3 4.4000 0.0000 -1.7500 0.5791

4 6.4000 0.0000 -1.7500 0.5791

5 8.4000 0.0000 -1.7500 0.6584

6 11.4000 0.0000 -1.7500 0.8425

7 14.4000 0.0000 -1.7500 0.6945

8 16.6740 0.0000 -1.7500 0.6471

9 18.9160 0.0000 -1.7500 0.6429
10 21.1580 0.0000 -1.7500 0.6429
11 23.4000 0.0000 -1.7500 0.6903
12 26.4000 0.0000 -1.7500 0.8425
13 29.4000 0.0000 -1.7500 0.7111
14 31.8000 0.0000 -1.7500 0.6845
15 34.2000 0.0000 -1.7500 0.6845
16 36.6000 0.0000 -1.7500 0.3160
17 0.4000 0.0000 1.7500 0.2634
18 2.4000 0.0000 1.7500 0.5791
19 4.4000 0.0000 1.7500 0.5791
20 6.4000 0.0000 1.7500 0.5791
21 8.4000 0.0000 1.7500 0.6584
22 11.4000 0.0000 1.7500 0.8425
23 14.4000 0.0000 1.7500 0.6945
24 16.6740 0.0000 1.7500 0.6471
25 18.9160 0.0000 1.7500 0.6429
26 21.1580 0.0000 1.7500 0.6429
27 23.4000 0.0000 1.7500 0.6903
28 26.4000 0.0000 1.7500 0.8425
29 29.4000 0.0000 1.7500 0.7111
30 31.8000 0.0000 1.7500 0.6845
31 34.2000 0.0000 1.7500 0.6845
32 36.6000 0.0000 1.7500 0.3160
33 2.4000 0.0000 0.0000 0.1410
34 6.4000 0.0000 0.0000 0.1410
35 11.4000 0.0000 0.0000 0.1843
36 16.6740 0.0000 0.0000 0.1516
37 21.1580 0.0000 0.0000 0.1509
38 26.4000 0.0000 0.0000 0.1843
39 31.8000 0.0000 0.0000 0.1576
40 34.2000 0.0000 0.0000 0.0788
101 0.4000 -0.0800 -1.7500 0.0000
102 0.4000 -0.0800 -1.4000 0.1094
103 0.4000 -0.0800 1.4000 0.1094
104 0.4000 -0.0800 1.7500 0.0000
105 0.4000 -0.2250 -1.4000 0.0000
106 0.4000 -0.2250 1.4000 0.0000
107 0.4000 -0.4750 -1.4000 0.0000




.2.3

(1/4)

2

KN/m? m 2 2
KN/m? m* m* m*

1 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

2 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

3 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

4 | 2_000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

5 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

6 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

7 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

8 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440

9 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
10 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
11 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
12 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
13 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
14 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
15 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
16 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
17 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
18 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
19 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
20 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
21 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
22 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
23 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
24 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
25 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
26 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
27 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
28 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
29 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
30 | 2.000E+008| 7.700E+007 0.0126000 0.0000010 0.0004170 0.0004440
31 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
32 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
33 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
34 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
35 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
36 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
37 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
38 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
39 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
40 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
41 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
42 | 2_.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
43 | 2_.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
44 | 2_.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
45 | 2_.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
46 | 2.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
47 | 2_.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
48 | 2_.000E+008| 7.700E+007 0.0038110 0.0000010 0.0000050 0.0000260
49 | 2_000E+008| 7.700E+007 0.0017000 0.0000010 0.0000010 0.0000010




2.2.4

X kN/m X-Y kN/m X-Z kN/rad
————————— Y (kN/m) Y-Z kN/rad
—————————————————— Z (kN m/rad)
Al 1.0500E+06 0.0000E+00 2.0530E+05
-——- 1.2700E+05 0.0000E+00
-——- -——- 5.6800E+06
1 3.0400E+05 0.0000E+00 0.0000E+00
-—— 9.1100E+05 0.0000E+00
-—== -—== 3.3500E+05
2 3.0400E+05 0.0000E+00 0.0000E+00
-——- 9.1100E+05 0.0000E+00
-——- -——- 3.3500E+05
A2 9.9000E+05 0.0000E+00 2.2270E+05
-—— 1.8100E+05 0.0000E+00
-—== -—== 7.4710E+06
2.2.5
(kN/m) Z-X (kN/rad) @ Z-Y (kN/rad)
————————— X (kN m/rad) Y,Z (kN m/rad)
—————————————————— Y (kN m/rad)
Al 1.0500E+06 -2.0530E+05 0.0000E+00
-——- 5.6800E+06 0.0000E+00
-——- -——- 1.0000E+10
1 3.0400E+05 0.0000E+00 0.0000E+00
-—— 1.7100E+05 0.0000E+00
-—== -—== 1.0000E+10
2 3.0400E+05 0.0000E+00 0.0000E+00
-——- 1.7100E+05 0.0000E+00
-——- -——- 1.0000E+10
A2 9.9000E+05 -2.2270E+05 0.0000E+00
-—— 7.4710E+06 0.0000E+00
-—== -—== 1.0000E+10
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3.2.1

(1/s) (s)
1 *| 2.2833 0.4380 5.2370 (21) 0.0235 (0) 0.0000 (O 0.04300
2 4.4155 0.2265 0.0000 (0 0.0000 (0 -4.4260 (15) 0.02332
3 6.4795 0.1543 0.1867 (0) -0.5614 (0) 0.0000 (O 0.03472
4 6.7522 0.1481 0.0000 (O 0.0000 (0 -2.4810 (5) 0.05573
5 7.6311 0.1310 0.0000 (O 0.0000 (0 0.6072 (0) 0.05357
6 8.9559 0.1117 -0.2807 (0) 5.6650 (24) 0.0000 (O 0.08948
7 *| 10.1263 0.0988 -0.6611 (0) -4.8830 (18) 0.0000 (O 0.05155
8 11.0620 0.0904 0.3370 (0 -5.3600 (22) 0.0000 (O 0.08411
9 12.0037 0.0833 0.0000 (O 0.0000 (O 0.0957 (0) 0.02578
10 14.9380 0.0669 -0.1988 (0) -2.1740 (4 0.0000 (O 0.02945
11 15.4894 0.0646 0.0000 (O 0.0000 (O -1.2180 (1D 0.02763
12 17.4192 0.0574 0.0000 (0 0.0000 (0 -1.1930 (D 0.03123
13 18.8370 0.0531 -0.0003 (0) 0.0001 (O 4.1660 (13) 0.07538
14 19.5239 0.0512 0.0142 (0) -0.0038 (0) 2.7370 _(6) 0.07573
* Rayleigh
Rayleigh
=1 hi= 0.0430 wi= 14.3462
= 7 hj= 0.0516 wj= 63.6256
o = 0.94849 o =2hw, B o
B = 0.00139 B - (2hw; -2hw ;)
w:-w?
0.20
——Rayleigh
0.18
*
0.16
0.14
< 0.12
0.10 r
0.08
0.06
0.04
0.02
0.00
0 5 10 15 20
f 1/s

3.2.1




3.2.2

(1/s) (s)
1 2.2833 0.4380 5.2370 (21) 0.0235 (0) 0.0000 (O 0.04300
2 *| 4.4155 0.2265 0.0000 (0 0.0000 (0 -4.4260 (15) 0.02332
3 6.4795 0.1543 0.1867 (0) -0.5614 (0) 0.0000 (O 0.03472
4 6.7522 0.1481 0.0000 (O 0.0000 (0 -2.4810 (5) 0.05573
5 7.6311 0.1310 0.0000 (O 0.0000 (0 0.6072 (0) 0.05357
6 8.9559 0.1117 -0.2807 (0) 5.6650 (24) 0.0000 (O 0.08948
7 10.1263 0.0988 -0.6611 (0) -4.8830 (18) 0.0000 (O 0.05155
8 11.0620 0.0904 0.3370 (0 -5.3600 (22) 0.0000 (O 0.08411
9 12.0037 0.0833 0.0000 (O 0.0000 (O 0.0957 (0) 0.02578
10 14.9380 0.0669 -0.1988 (0) -2.1740 (4 0.0000 (O 0.02945
11 15.4894 0.0646 0.0000 (O 0.0000 (O -1.2180 (1D 0.02763
12 17.4192 0.0574 0.0000 (0 0.0000 (0 -1.1930 (D 0.03123
13 *| 18.8370 0.0531 -0.0003 (0) 0.0001 (O 4.1660 (13) 0.07538
14 19.5239 0.0512 0.0142 (0) -0.0038 (0) 2.7370 _(6) 0.07573
* Rayleigh
Rayleigh
= 2 hi= 0.0233 wi= 27.7434
= 13 hj= 0.0754 w j= 118.3564
o = 0.33176 o =2hw, B o
B = 0.00125 _ (2ho; -2hw ;)
w:-w?
0.20
——Rayleigh
0.18
*
0.16
0.14 H
< 0.12 H
0.10 r
0.08
0.06
0.04
0.02
0.00

3.2.2

10
f 1/s
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5.1.1 5.1.4



-5.1.1

@ max @ max @ max @ mean o yo0

(1/m) (1/m) (1/m) (1/m) (1/m)
P1-215 0.000652 -0.000591 0.000626 0.000623 0.058570
P1-216 -0.000057 -0.000055 -0.000061 0.000058 0.058570
P1-217 -0.000771 0.000628 -0.000741 0.000713 0.058570
P1-218 -0.001455 0.001215 -0.001395 0.001355 0.058570
P1-219 -0.002284 0.001927 -0.002190 0.002134 0.058570
P2-315 0.000785 -0.000630 0.000741 0.000719 0.058570
P2-316 0.000191 -0.000154 0.000180 0.000175 0.058570
p2-317 -0.000410 0.000335 -0.000397 0.000381 0.058570
p2-318 -0.001012 0.000818 -0.000968 0.000933 0.058570
P2-319 -0.001620 0.001308 -0.001544 0.001491 0.058570
P2-320 -0.002233 0.001807 -0.002127 0.002056 0.058570

-5.1.2

@ max @ max @ max @ mean o yo0

(1/m) (1/m) (1/m) (1/m) (1/m)
P1-215 -0.002086 -0.001742 0.001903 0.001910 0.058570
P1-216 -0.000601 -0.000426 0.000526 0.000518 0.058570
P1-217 -0.001904 -0.001738 0.001909 0.001850 0.058570
P1-218 0.003179 0.003111 0.003231 0.003174 0.058570
P1-219 0.008151 0.006703 -0.007712 0.007522 0.058570
P2-315 -0.002117 -0.001873 0.002038 0.002009 0.058570
P2-316 -0.000793 -0.000607 0.000733 0.000711 0.058570
p2-317 -0.001154 -0.001003 0.001109 0.001089 0.058570
p2-318 -0.002338 -0.002217 0.002295 0.002283 0.058570
P2-319 -0.003534 -0.003445 0.003473 0.003484 0.058570
P2-320 0.008363 0.006757 -0.008014 0.007711 0.058570




-5.1.3

@ max @ max @ max @ mean o yo0

(1/m) (1/m) (1/m) (1/m) (1/m)
P1-215 -0.000304 0.000366 -0.000237 0.000302 0.058570
P1-216 -0.000212 0.000273 -0.000195 0.000227 0.058570
P1-217 -0.000147 -0.000190 -0.000171 0.000169 0.058570
P1-218 0.000157 -0.000198 -0.000181 0.000179 0.058570
P1-219 0.000234 0.000267 -0.000307 0.000269 0.058570
P2-315 -0.000327 0.000391 0.000306 0.000341 0.058570
P2-316 -0.000237 0.000296 0.000214 0.000249 0.058570
p2-317 -0.000155 0.000201 -0.000156 0.000171 0.058570
p2-318 0.000131 -0.000167 -0.000139 0.000146 0.058570
P2-319 0.000205 0.000205 -0.000224 0.000211 0.058570
P2-320 0.000300 -0.000316 -0.000329 0.000315 0.058570

-5.14

@ max @ max @ max @ mean o yo0

(1/m) (1/m) (1/m) (1/m) (1/m)
P1-215 0.000637 -0.000585 -0.000431 0.000551 0.058570
P1-216 0.000526 -0.000497 0.000355 0.000459 0.058570
P1-217 0.000417 -0.000413 0.000333 0.000388 0.058570
P1-218 -0.000391 0.000423 0.000316 0.000377 0.058570
P1-219 -0.000482 0.000505 0.000419 0.000469 0.058570
P2-315 0.000627 0.000584 -0.000426 0.000546 0.058570
P2-316 0.000507 -0.000459 -0.000328 0.000431 0.058570
p2-317 0.000403 -0.000378 0.000294 0.000358 0.058570
p2-318 -0.000332 0.000338 0.000274 0.000315 0.058570
P2-319 -0.000385 0.000403 0.000362 0.000383 0.058570
P2-320 -0.000470 0.000547 0.000526 0.000514 0.058570
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